23370 T EWHH-ER-KEE

Hod] >R
frei
STAINLESS STEEL M*Sl— .
54N 1.4301,

I
T,

BR:
BERERMENZKEZEDZTRNEELNELRBM-EF-KEE, ik
ZECHMNEGZREIANERE, BIPOBEEREZENIFEH, 7
& Bh IR T E BIR R BRESRE,

KEENRB#HBE £0.01 mm,

KA :

RTHBRIEENRE , NMEFRREENERTZRKEE, FGE
MENKZEREER L, EXNSEAHE , MNERNEBER

( RIK/EARSEE 350N/mm?) o

FEANE :
o h7
£ HY

© norelem www.norelem.com



23370 THENEH-EF-KEE

=

[ 0,01

D1 0,03

|

|

L1
[ L
[ -
23370-040008 4 8 15 12,5 M6x0,5 8 4 3
23370-050010 5 10 15 12,5 M8x0,5 10 5 4
23370-060010 6 10 15 12,5 M8x0,5 10 8 7
23370-063510 6,35 10 15 12,5 M8x0,5 10 8 7
23370-080014 8 14 | 22 19 M12x1 17 15 14
23370-090014 9 14 | 22 19 M12x1 17 15 14
23370-100017 10 17 | 22 18,5 M15x1 19 19 18
23370-120017 12 17 | 22 18,5 M15x1 19 19 18
23370-140020 14 20 | 28 23 M17x1 22 25 24
23370-150020 15 20 | 28 23 M17x1 22 25 24
23370-160023 16 23 | 28 23 M20x1 27 27 26
23370-190025 19 25 | 28 23 M22x1 27 30 29
23370-200028 20 28 | 28 23 M25x1 30 32 31

© norelem www.norelem.com




23370 THENEH-EF-KEE

© norelem www.norelem.com



